N 2 0l & AF S E A A
2009 T =0 A 2B H,JIEFS 25|
ST ASI= XD
By Jjz=x S
Sl oH=XST (ee:82)
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 glggf; HRE2
A3l = X 1t 14,528,552 13,675,962 852,590
2 7,799,836
Al 4,545,989
- 2,182,727
H=ESX S 5,018,338 3,774,032 1,244,306
2 2,316,658
Al 1,565,025
2 1,136,655
HeE=Xsd 639,567 587,946 51,621
= 300, 160
Al 185,332
= 154,075
YL ZUYDSE AA 500 500 0
201 Ysr2gy| 500 500 0
01 AR 2cldl 500 500 0
Ol%us 23 100, 000& +23] 200
OWZTLNE LA 150,000& 23| 300
oy AL X3 17,575 18,080 A505
201 B2 I 4,130 15,580 211,450
03 HAr2ZHI 4,130 15,580 A11,450
OO0 & 043l 1,190
g8 89 80,0003 *37H 2 240
o222 M 2,000 30004 600
CRIESHI(ZAMXS) 350
OSSHA +23] 800
o Xt&E A Xt 400,000 »2CH 800
O Zasmc MIIHxs A 1,740
ogof 80, 000 =3 0HK 240
oRIEES 200
S Er 1, 0002 +8000} 800
oIl0t: Xt 500,000& 1 CH 500
OATIASAIE £ 3l 400
o XX 400,000& = 1CH 400
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SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
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01 &l 2,500 2,500 0
O'gsIl Has A EedI'M=
o 2,500
301 YEtEA= 10,945 0 10,945
10 dAIAHIEAZ 10,945 0 10,945
OdHgl 800
o2 A& 200,000 =1 200
oZ3tE8AH &A 300,000& «2& 600
OHEHNA = 700
o EHIA 24t 7,000 100 700
OFsEE 3 I = 9,200
o X& A 24t 70,0003 x60 4,200
obtx=Xt 24 50,000& 60 3,000
oE% Ed 500, 000& x4 &l 2,000
OIS A 245
o HIA 24t 7,000 *35H 245
SMEAZ KA 135,000 135,000 0
301 YotEaz 135,000 135,000 0
01 AMIEBHEHE2G3 135,000 135,000 0
O=MmoOotol 600,000& x150H * 13| 90,000
OAIRH OLOl 3,000,000 *15H *13] 45,000
SHERIIE JUESSE - u=EHl X2 94,000 62,000 32,000
= 75,200
Al 18,800
301 YotEaz 94,000 62,000 32,000
= 75,200
Al 18,800
01 AMSE2EAE=EZ3 94,000 62,000 32,000
OMASR - 2XIHEX 2 (OtsLSH L
DAY ) 94,000
= 75,200
Al 18,800
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SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
HASSEXIIENS (ZD0Y DEH) 25,000 21,500 3,500
Al 25,000

301 LerEAR 25,000 21,500 3,500
Al 25,000

01 ABIZZEZLG2 25,000 21,500 3,500

ONASE - 2ANZXN(ZDLY DS

) 25,000
Al 25,000

MAS@LIIHN S (ESEHM 22 H|) 6,076 6,076 0
Al 6,076

301 LerEAR 6,076 6,076 0
Al 6,076

01 ABIEEEZL52 6,076 6,076 0

ONASE - PNUNYN (XS 5122

bl) 6,076
Al 6,076

SHHIHoIEES 2 X 268,360 268,360 0
= 187,852
Al 80,508

307 ©I2tOIF 268,360 268,360 0
= 187,852
Al 80,508

02 QIZBATE 268,360 268,360 0
O THos 25 L X 268,360
= 187,852
Al 80,508

SO PUEIEE VT = 20,326 0 20,326
Al 20,326

301 LerEAZ 20,326 0 20,326
Al 20,326

01 ABIEEEZ252 20,326 0 20,326
OMMOL 015 E4&XES 20,326
Al 20,326

IIEEY - g2y ¥ DK 69,930 0 69,930
= 37,108
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A ASISE X
By Jlx=x 53
ol BRAE B4 (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
307 QIZ+tol A 10,500 10,500 0
02 OI2tFAE X 10,500 10,500 0
OBFAIE tEd| K& 10,500
llsE22AIY 456,430 2,000 454,430
= 228,215
Al 114,108
- 114,107
401 AlZHIZLE204b] 456,430 2,000 454,430
= 228,215
Al 114,108
= 114,107
01 Al&H| 456,430 2,000 454,430
OSEEZRAAE = 396,430
= 198,215
Al 99, 108
=] 99,107
OJNXM HI 60,000
= 30,000
Al 15,000
- 15,000
NASS Ex2 A 1,834,352 908,264 926,088
= 917,176
Al 458,588
- 458,588
301 Lert8A= 1,834,352 908,264 926,088
= 917,176
Al 458,588
- 458,588
01 A E&EE56= 1,834,352 908,264 926,088
OMAES Ex2 A& 1,834,352
2 917,176
Al 458,588
- 458,588
OBNIOlSE BrE A& 384,800 364,568 20,232
= 192,400




2AM: AtRIS X0
mu: ojz=x A
el EE2E S (ee:82)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
2I5MI0lS E582 XI# Al 96,200
- 96,200
301 YEtEA=E 384,800 364,568 20,232
= 192,400
Al 96,200
= 96,200
01 AMIEBEHESG3 384,800 364,568 20,232
OBoMIOls RaESsE K& 384,800
= 192,400
Al 96,200
- 96,200
OOt RaERZ 75,000 47,412 27,588
= 37,500
Al 18,750
- 18,750
301 getEazg 75,000 47,412 27,588
= 37,500
Al 18,750
- 18,750
01 AMSE2EH=EZ3 75,000 47,412 27,588
O&Mots RaEEE XA 75,000
= 37,500
Al 18,750
- 18,750
SO B2 87,960 40,168 47,792
= 43,980
Al 21,990
- 21,990
301 getEazg 87,960 40,168 47,792
= 43,980
Al 21,990
- 21,990
01 A22HEE=063 87,960 40,168 47,792
OFXdola 252 K& 87,960
= 43,980
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ol BRAE B4 (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Al 21,990
- 21,990
EMolI= 4 == X 10,250 9,800 450
Al 10,250
301 YBtEAa=s 10,250 9,800 450
Al 10,250
01 ASIE2EHE =63 10,250 9,800 450
O=molE [tH 258 I 10,250
Al 10,250
SESAESALACI 2| 884,781 884,781 0
= 442,391
Al 221,195
- 221,195
307 glz2told 884,781 884,781 0
= 442,391
Al 221,195
= 221,195
02 BIZHEANE X 884,781 884,781 0
OESAMESAA 12| 884,781
= 442,391
Al 221,195
- 221,195
ESAE JIsEZ 11,300 13,600 A2,300
Al 11,300
307 glz2told 11,300 13,600 A2,300
Al 11,300
02 QItFAEX 11,300 13,600 A2,300
OF=2RXNE ESANE 23| 2,400
Al 2,400
OE2XNA ESAE WM 4,900
Al 4,900
OHENA PRAIL SESE L 25 A
]l 4,000
Al 4,000
FONE MERESER0 243 8,000 3,108 4,892
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ORRINHESALBAR SX &Y 63,100
Al 63,100
SOHE ESAE 24| 2,400 2,400 0
= 1,200
Al 600
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307 QI2toIH 2,400 2,400 0
2 1,200
Al 600
3 600
02 QltF&E=X 2,400 2,400 0
OSOESSAIS 22 28] 2,400
= 1,200
Al 600
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S=EA4 0018 Ols E=EXE 16,000 0 16,000
= 8,000
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- 4,000
301 utEas 16,000 0 16,000
= 8,000
Al 4,000
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IIEEEEETE 16,000 0 16,000
E2=A4 01018 Ots d=FXH 16,000
2 8,000
Al 4,000
- 4,000
EEbN 518,988 502,085 16,903
= 140,936
A 344,312
- 33,740
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0 & 24
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70,0002 *82 33| 1,680
401 Al&ZHI 2208 5,000 6,000 A 1,000
04 GALZHRAAIEHI 5,000 0 5,000
OO e0l=0lE =017+ E4
5,000, 000& *12] 5,000
2 ots =4K# 56,000 41,333 14,667
Al 42,000
- 14,000
301 erEd=z 56,000 41,333 14,667
Al 42,000
- 14,000
01 A2I2EH =03 56,000 41,333 14,667
Ogd ots sa K& 56,000
Al 42,000
- 14,000
E-g2 -352 Oiss4XN& 88,350 60,550 27,800
Al 88,350
301 ptsazg 88,350 60,550 27,800
Al 88,350
01 A2 E =063 88,350 60,550 27,800
O -2 ZHY OISSAX 88,350
Al 88,350
gerE OlssS4 N 40,400 37,800 2,600
Al 30,300
- 10,100
301 Lptsazg 40,400 37,800 2,600
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- 10,100
01 A2HA53 40,400 37,800 2,600
OogstE Ots A K& 40,400
Al 30,300
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2AM: AtRIS X0
Zy: Jlz=x S

CHol: OFS=X B4 (S92l
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
XNEotsdH 22 K& 74,160 105,600 A31,440
= 37,080
Al 37,080

307 glz2told 74,160 105,600 A31,440
= 37,080
Al 37,080

02 BIZHEANEZX 74,160 105,600 A31,440
OXlYotsHH(ZRY) 22X 74,160
= 37,080
Al 37,080

XNE0tsHE OtsSX WA XI& 24,720 60,000 235,280
= 17,304
Al 7,416

307 gQiz2tolA 24,720 60,000 235,280
= 17,304
Al 7,416

02 BIZHEANE X 24,720 60,000 A 35,280
OXHOISHE OFS=X DA X & 24,720
= 17,304
Al 7,416

ISE8Ee B3 38,684 37,668 1,016
= 15,474
Al 23,210

307 2IZ2t0olM 38,684 37,668 1,016
= 15,474
Al 23,210

02 QItFAE X 38,684 37,668 1,016
O1Es 2N 38,684
= 15,474
Al 23,210

Helol AHMOHEl O 2,960 0 2,960

201 Lt 2,960 0 2,960

03 &Ar2gl 2,960 0 2,960
OaAR&A =Y 100,000& 3% +23| 600
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S AE ST
2 opE=x 5

(i}

CHol: OFS=X B4 (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

O&E HA 18,0003 *30H *23] 1,080
O X (AHER) 2002 %2, 00001 *23| 800
Ogs8t 80,000& x3JH*23| 480

Ots2Y XISHA 22D/ 2SS XA 20,000 0 20,000
Al 20,000

307 2I2tolA 20,000 0 20,000
Al 20,000

02 OI2tFAE X 20,000 0 20,000
Oots<e X3AHZE 22 2IXA 20,000
Al 20,000

LoI=sXsd 6,677,119 7,308,054 A 630,935
= 3,961,318
Al 2,095,407
- 620,394

St AOl L:As BE 5,098,644 3,569,509 1,529,135
= 3,586,622
Al 1,087,848
- 424 174

FOEL-OIM K& 47,800 45,700 2,100
Al 47,800

301 Lertg8A= 47,800 45,700 2,100
Al 47,800

01 A E&EE56= 47,800 45,700 2,100
ORoEL-OINH X 47,800
Al 47,800

AMXO-Q SNES 14,400 18,600 N4,200
Al 14,400

301 e A2 14,400 18,600 N4 ,200
Al 14,400

01 MIBEHHHZ2 14,400 18,600 N4,200
OYAMXI o SXNES 14,400
Al 14,400

DIESE= R 5,033,856 3,226,013 1,807,843
= 3,586,622




AN A2 =X

I LSS
el L Ol LEAS P (el @)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
=gz Al 1,025,648
- 421,586
301 YEtEA=E 5,033,856 3,226,013 1,807,843
= 3,586,622
Al 1,025,648
- 421,586
01 AMIEBEHESG3 5,033,856 3,226,013 1,807,843
SSET-1-F 5,083,856
= 3,586,622
Al 1,025,648
- 421,586
MAs oMU H228z XN 2,588 1,996 592
301 utEaz 2,588 1,996 592
01 AIE2EE=063 2,588 1,996 592
ONASTOMY AL2SHE X 2,568
SRES 2,160& »46H 122 1,193
SYES 3,4703 179 =128 708
=35 4, 7703 129« 123 687
2ot B8 sME BF 222,715 241,754 A 19,039
= 82,401
Al 117,314
- 23,000
HASTHIOLL- ol AAIE 36,000 36,000 0
Al 36,000
307 glz2told 36,000 36,000 0
Al 36,000
02 QtFAE X 36,000 36,000 0
OMASTHII=Q AAF HIE 36,000
Al 36,000
Z2AY RS ZAAMG 46,000 43,000 3,000
Al 46,000
307 gQiz2tolA 46,000 43,000 3,000
Al 46,000
02 BlZtFAE=X 46,000 43,000 3,000




SN ASI= XD
MM Lo=XS
TPl AN BEUE LeME B (SHol &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
OZZAY REZAAY 46,000
Al 46,000
COETAIA Y - 2A 23,000 26,000 3,000
401 Al&HIZLSOHY] 23,000 26,000 3,000
01 A& 23,000 26,000 3,000
ORZolF M - 24(2~3H4) 8,000
OUB =B ZRXE FIIHBAIE BHZ
A 15,000
LOSE MHIA A 117,715 0 117,715
= 82,401
Al 35,314
307 SI2t0H 117,715 0 117,715
= 82,401
Al 35,314
05 SI2telera 117,715 0 117,715
OLQEE MHIA At 117,715
= 82,401
Al 35,314
OLMGID EIIE LEMEI|E XA 1,355,760 3,496,791 A2,141,031
= 292,295
Al 890,245
2 173,220
22 A X 7,940 6,240 1,700
201 Ysre | 4,040 6,240 A2,200
03 A2 4,040 6,240 A2,200
OIS 100K ZZBAH 2,240
B4t 80,000 *304 240
c2YgsE 2,000
OZZ#A XA 300, 000! *6.CH 1,800
301 YsEAZ 3,900 0 3,900
10 BAAHI2AZ 3,900 0 3,900
OIS 100H ZZ#AH 2,500
oXHE 24 300,000 *4& 1,200
SAEIF B 300,000 *12 300
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SN (B) - MBEAY - B2 0f Ao Soe HRZ2
oMEA MI|XHSH 20,000& *50H 1,000
OHOIY AL 7,000& *100Y¥ 700
OLololy AL 7,000&*100H 700
Lol TIe| A Y 525,810 474,500 51,310
= 262,905
Al 262,905
101 Q14| 8,100 0 8,100
= 4,050
Al 4,050
10 JIZHZ22XNsSES 8,100 0 8,100
OLoldxiel Mol (5l 882 &
&) 8,100
= 4,050
Al 4,050
307 Q20| A 320,980 320,650 330
= 160,490
Al 160,490
02 012t AE X 320,980 320,650 330
OLoldRiel A (Al F=2t) 320,980
= 160,490
Al 160,490
401 AIEHIZ 204 196,730 153,850 42,880
= 98,365
Al 98,365
01 Al&H] 196,730 153,850 42,880
Okl LX2IAIE (7 =2) 196,730
= 98,365
Al 98, 365
Lol A (XHA) 27,000 19,000 8,000
307 QI2tolA 27,000 19,000 8,000
02 QI AE X 27,000 19,000 8,000
Orolg 2 (=7X3) 2dXA 27,000
Lo=Exga 29 410,480 389, 100 21,380
Al 294,680
- 115,800
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SHT AE=T
HH: Lo=XEH

CHRl: OFRGID B LSMEI|Y XA (el &
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 HwsZ
02 SIAFAEE 18,000 18,000 0
OFR2Y £5/T2708 22lXt BIXIAY 18,000
Al 9,000
= 9,000
BRYHLSAY 20,000 20,000 0
Al 20,000
307 SI20IH 20,000 20,000 0
Al 20,000
02 SIAFABE 20,000 20,000 0
OZ2Y SHBAIY 20,000
Al 20,000
Cona 29 7,200 7,200 0
Al 7,200
307 LI2t0H 7,200 7,200 0
Al 7,200
02 SIAFAEE 7,200 7,200 0
OLQmal 2% X8 7,200
Al 7,200
THIb 1= X ALY 246,652 475,300 228,648
Al 246,652
307 L1201 H 246,652 475,300 228,648
Al 246,652
02 SIAFABE 246,652 475,300 228,648
OMIMCQIAIE = =R ag 27,000
Al 27,000
OMIH = QI = XA (= SE QI = X MIE -3
2A25) 34,826
Al 34,826
OMI ==X A (BRI S ME-IHE
SARTIAME ) 50,000
Al 50,000
OMIH= QIS XA (B Q1 S X M -2 2t
25) 34,826
Al 34,826
OMI=QI S XA (BH B 0I= X HIE|-
IIHEAR T ASE) 50,000
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AN A2 =X

M Lol=X A
SR OtMGBD ED|& "SME)|IB XM (Gt d
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Al 50,000
OMItEoIEXAME(EL =X MEH-I}
HESALKIAHE) 50,000
Al 50,000
HNASES MEtd3IA 36,738 0 36,738
= 29,390
Al 7,348
307 QIZ2t0IA 36,738 0 36,738
= 29,390
Al 7,348
05 oIt 36,738 0 36,738
OAN&E=Z X MAZSAH 36,738
= 29,390
Al 7,348
NASE NEXH 1,216,469 1,134,938 81,531
= 929,440
Al 173,563
- 113,466
NAsSS Mg - Ag X3 1,216,469 1,134,938 81,531
= 929,440
Al 173,563
- 113,466
NASS NEXA 3,265 3,265 0
201 829y 1,265 1,265 0
01 AtR22id] 840 840 0
OXEI|2EOH LG
70,0003 x6H *23| 840
02 3294 425 425 0
O0I&EX 282 65,000 = 1CH 65
OO0IEX |54l 30,000& 128 360
203 YRF=L&Y| 2,000 2,000 0
03 AMF=AAIFZAH| 2,000 2,000 0
OXIHAS SXZE AIMEZ 2,000
AEASEZAH 77,363 57,080 20,283
= 61,891
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AN A2 =X

M HASE NEXNE
o9 HASS XHE - KE X (S92l ®el)
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
HEASSH Al 7,736
- 7,736
301 YEtEA=E 77,363 57,080 20,283
= 61,891
Al 7,736
- 7,736
01 AMIEBEHESG3 77,363 57,080 20,283
ONEEAH2 77,363
= 61,891
Al 7,736
T 7,736
22 779,561 737,659 41,902
= 623,649
Al 77,956
- 77,956
401 Al&HIZ =204 779,561 737,659 41,902
= 623,649
Al 77,956
- 77,956
01 Al&HI 779,561 737,659 41,902
ORE2E AL 779,561
= 623,649
Al 77,956
- 77,956
JtARIE R 2 ES0IALS 142,898 133,725 9,173
= 100,028
Al 21,435
- 21,435
307 2IZ2t0lM 142,898 0 142,898
= 100,028
Al 21,435
- 21,435
05 QIZtREZ 142,898 0 142,898
OJtAZtE 2E =R0IAE 142,898
o 100,028
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¢ ARl =Xt

ASE NN
AEE AE - I K&
SN C(BH) - NRAY - HES Aro Bl
Ol &k
Al 21,435
- 21,435
IHSEZOH 736 736
= 588
Al 74
= 74
01 YsrBaZ 736 736
=2 583
Al 74
o 74
HALAHIEAZ 736 736
OMEIZS T2y Ayl 736
= 588
Al 74
= 74
NHRSLE X2 182,646 172,473
= 119,284
Al 63,362
307 glz2told 182,646 172,473
= 119,284
Al 63,362
QItHAE X 182,646 172,473
OXgxtadyd 23| 170,406
= 119,284
Al 51,122
OXgitady MIsX=g 12,240
Al 12,240
SH(E2) 30,000 30,000
= 24,000
Al 3,000
- 3,000
307 glztold 30,000 30,000
= 24,000
Al 3,000
- 3,000
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¢ ARl =Xt
CNASE NEXE
CNASE UHE - NUE X

chol: &l 2
SN - E .o (3) o . HyS Ao gggf; HRS2
05 oItz 30,000 0 30,000
OFAHSH(82) 30,000
- 24,000
Al 3,000
- 3,000
ool =X 1,166,656 1,216,405 N49,749
= 581,620
Al 560, 194
- 24,842
ool 2Xsd 1,166,656 1,216,405 N49,749
= 581,620
Al 560, 194
- 24,842
Aojol el 54X 5,400 4,400 1,000
201 LB IH| 1,000 0 1,000
01 ArR2t2|bl 1,000 0 1,000
OxstEd2y 100,000 * 1Al 2+*103] 1,000
307 QI2tolA 4,400 4,400 0
02 QI2HEAMNEX 4,400 4,400 0
OFOQl 2E XA 4,400
oo &ojel Lt 3,200
oTONQl BHHLCH 1,200
SOHe WEHgHE 29 19,200 19,200 0
307 QIZtolA 19,200 19,200 0
02 QUHBAEX 19,200 19,200 0
OFOHel TE = &
1,600,000& x12& 19,200
ZOoN=G 500,400 693,000 A 192,600
= 350,280
Al 150, 120
301 Let8EAa3a 500,400 693,000 A 192,600
= 350,280
Al 150, 120
01 MIBEHHZ2 500,400 693,000 A 192,600
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SH: ARSI XD
& Zojel =2XEA

cHol: Fojel =X EA (et9l: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s

OZ=¢ 500,400
= 350,280
Al 150,120

ZOoHel e 59,280 63,000 A3,720
Al 59,280

301 otEaz 59,280 63,000 A3,720
Al 59,280

01 A2 E =063 59,280 63,000 A3,720
OTel MHe+< 59,280
Al 59,280

Zopel Xt sl K& 1,000 1,744 AT44
= 800
Al 200

301 YotEa=z 1,000 1,744 ANT44
= 800
Al 200

01 AMIEBHEESHZ3 1,000 1,744 AT44
O&ofel X4 W=l 1,000
= 800
Al 200

ZOHots=< 31,800 30,000 1,800
= 22,260
Al 9,540

301 otEaz 31,800 30,000 1,800
= 22,260
Al 9,540

01 AMIEBHEHESGZ3 31,800 30,000 1,800
OXMOts =< 31,800
= 22,260
Al 9,540

ZOoHel o/ZHl K& 10,174 8,000 2,174
= 8,139
Al 2,035

301 Lptsazg 10,174 8,000 2,174
= 8,139

_24_




| = Xl 1t

2
HOHQl =X

At
=
=

S A
Xﬁﬂ:

(==}

od
’J
OF
oJ

OHel =X

9l

e

n0

KIo

Bl w

2,174

240

AN40

240

N2,841

A2,841

A2,841

7,695

7,695

7,695

H3r
uiled!
pak=

8,000

530

530

530

4,050

4,050

4,050

92,340

92,340

92,340

=
o

s

<J

2,035
10,174
10,174

Al

8,139
2,035

i

490

Al

245

fir

245
490

Al

245

m

245
490
490

Al

245
245

i

Al

1,209

967

fir

242
1,209

967

m

242
1,209
1,209

967
242

i

100,035

50,018

fir

50,017
100,035

Al

50,018

fir

50,017
100,035

Al

100,035

50,018
50,017

i

01

301

301

01

I+
E

Ki
T
oJ

-

KO

301

01

oF
H

—_

w
|
ol

K-
oJ

-

KO

301

01

OF
iy

by

D
£
ol

Kk

ol

-

K0

Al
05




od
’J
oF
oJ

| = Xl 1t
oHel =X

N
HOHQl =X

At
S
=

SA
x| XH
(=
Sk

N~ N~ N~ L0 L Lo L0 [aN] [aN] o o
<o) <o) (<o} O O O — (@) o 06) [ee]
« « < ~ ~ < © « « < <
U - - © @ > S & 3 o~ o
KI0 -
=
o
™ ™ ™ — — — N~ o o o o
= = 2 & N N R 8 8
& & 3 g < g 2 2 2
H3r = 2 3 s - 2
il
K=
(@) (@) (@) (e} (@) (@) (@) (@) (@) (<o} © © O O © (<o) (@) (=) Al N~ Yo} Al N Y) [aN] [aN] S L0 o < © (e} < <o}
B BIBEE S 88 8laklesls =8 Bl8I28328 8§ I¢885|88=%
28888 8 8~ 8 EEE8 v vy ¥2FEgEEE g gy |V
3
<
=
< =< = = < =< = = m = m o= m = 1I——3 m =
or L
70 ur
=)
] .
. 00 o
< Z
= < 5
= o I 5 Al
L 30 G 30 5
= W 0B Rr o 0B =
= |w W ~ W %
= oH < < 80 < D =
o ilof o] 0h il ) ki
= |=n W M iy - WK e &l iy or)
ok | = o ) < o 31 = wow o+ o
o | o zl = Kk K- = ) N Rr Rr Ki ) n b = 20
H =~ <0 ol = <0 H = or ol + H
- y g RO 3) = S RO 3) - o ol o 2
= mT o A = ) N AS = o D A3 w v e
%0 D 3 Ko R0 Rl E 3l RO ) ol E ) Koo o
. o) ~ O O ) ~ O O o) ~ O o) —
T |3 S S = = S = = 8 = 8
| R R0 R0 R0

_26_



| = Xl 1t

2
HOHQl =X

At
=
=

S A
Xﬁﬂ:

(==}

od
’J
oF
oJ

OHel =X

chel:

e

n0

KIo

Bl w

2,080

30,000

30,000
30,000

181,892

181,892

164,265

H3r
uiled!
pak=

189,673

189,673

700

700
700

185,000
6,040
6,040

=
o

s

<J

2,080

2,080

1,664
416

i

Al

30,000

30,000
30,000
30,000
30,000

Al
Al

30,000

30,000

Al

371,565

10,800
151,800

m

208,965

Al

371,565

10,800

fir

151,800
208,965

Al

700

700
700

600

100
349,265
141,000
208,265

6,045
6,045
2,640
1,200

Al

o
1)
<+
Rr
70
I

o}

01

of

ol

ol

(4]

K0
oJ

ak

i

0o
~

X0
K1

-

oJ

KJ
Hr

B

30
0B

i}
T
iy
RO
ol
[

3

300,000& 2

O
H
L

-

=
H
&0
oD
®F

3

4 x202

=

2 %107} %4

5,000

[uinsd

100,000& x 12

66,000

OAFRI121

-

a0
<+
xr
KO

o}
oF
OF
Kl
KK
ol

n
[0
[0

1,260

|
_27_

3

2

[und

2| xQ

e

70,000




2AM: AtRIS X0
HH: D8 57 U o

Col: DESFDIBEY (el o
SAH-HH . () - MBEAY - BHA2 0 AF 08 e HRS2
OS2 ZMYFE S|
7,000 *3H 452! 945
401 AIEHIZL =204 343,220 178,960 164,260
Al 141,000
= 202,220
01 Al&H| 343,220 178,960 164,260
OZ2222ZAMY =& 343,220
Al 141,000
- 202,220
NSAAX HNAZ=HA 21,600 0 21,600
= 10,800
Al 10,800
301 et A= 21,600 0 21,600
= 10,800
Al 10,800
01 MIBEHHZ2 21,600 0 21,600
OXNGAA 2gsH 21,600
= 10,800
Al 10,800
HE2AAH(AFEI 2 X 1) 48,405 52,860 N4,455
ol 2AH| 3,000 3,000 0
2MEY o=H2aY| 3,000 3,000 0
203 HRF=ZEY| 3,000 3,000 0
04 RENSIYERF=EH 3,000 3,000 0
OBNEZE2Y 250,000& x12& 3,000
JlE23Hl 45,405 49,860 N4, 455
EAMII223| 45,405 49,860 AN4,455
201 B9y 6,565 5,740 825
01 AtR22ld| 6,565 5,740 825
OFANS2Y JIE2=2H| 253,000& *13H 3,289
OJl2g2sd =2l 252,000& *13H 3,276
202 O4Hl 37,440 40,320 N2,880
01 =2WAbl 37,440 40,320 N 2,880
OJI2g2+3 | 240,000& * 13 12 37,440
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¢ ARl =Xt

D MA2IHHI (A =X

CJl=&sl

SN I SRI(S) - NRAY - B sk e 2
405 XHeHE S| 1,400 A 2,400
01 KA ESEFH 1,400 A2,400

OHOIMEEH WA 1,000, 000& = 1CH 1,000
OCIXIE It et 400,000& = 1CH 400
HR &S (ArsI =X 1) 30,000 30,000

LHEHHXI & 30,000 30,000
HEgdIIs &M 30,000 30,000
702 JISHES 30,000 30,000
01 JI=sd&E3s 30,000 30,000

OWdYHdI|IZ = 30,000
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